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2. (a)

(b)

(c)

(d)

(e)

348 (WH)

Which of the following is known to he

able to formy aymbiotic associntion with
plants ?

() Rhizobium

(i) Mycorrhiza

(1) Nostoc

(iv)  Both (i) and (i1)

Which enzyme is known to make cuts at
specific position within the DNA ? 1
(i) Exonuclease

(ii) Endonuclease

(iii) Polymerase

(iv)  All of the above

. i 1
Write two major functions of Testis. 7 + 3 =1

What is co-dominance ? Explain it with

1 1 _ 1
suitable example. 3 -|-E =
What do you understand by monosporic
development of female gametophyte ? 1
Mention two chemical diﬁ'eren;:ea )
How does transmission of the fol]ow;fng »
diseases take place ? P + P
(i) Amoebiasis
(ii)  Ascariasis

7 P.T.O.
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(c)

(d)

e)

348 (WH)

Draw neat and labelled dingram of
vertical pection of human seminiferouy
tubule ghowin
t do you understand by the term

Wha
‘breed’ 7 Mention nny two objectives of
L |
animal breeding. 1+ Jtom2
Draw line sketch dingram of energy tlow
hic levels. 2

through different troy.

When a Cross 18 m;ulu betwoeen tH” plﬂnt

-“-i[h _"all.‘”{‘“' ﬁl‘l‘ds I;']‘t\'\‘ H”(i !“” I}Iﬂnt

with  green  sceds  (Ttyy), what

proportions of phenotype in the offspring

could be expected to be I+1=2

(1) Tall and Green ?

(11) Dwarf and Green ?

What are bio-fertilizers 7 Name any two

bacteria which fix atmospheric nitrogen

in the soil. I'f"'!'i"{:.?
2 2

What is meant by emasculation 7 When

and why does a plant breeder employ

this technique ? I+1+1=3

Explain the following terms with suitable

examples : ;i_,_;iz‘g

H # - 2

(i) Hybrid vigour 2

(1i) Incomplete dominance

8
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g n|wrm.-lt.um-m-ain. 1+1ug

()

(d)

5. (a)

(b)

(c)

(d)

6. (a)

(b)

348 (WH)

What do you understand by Apiculture ?
What 1s its economic importance in our
lives ? 142=3
What is recombinant DNA technology 7
Describe the procedure of insulin
production by this technique. 1+2=3

What are transgenic animals ? Why are
they produced ? Describe in brief their
usefulness for human beings. 1+1+1=3

With the help of a suitable diagram,

describe the logistic population growth

curve. htps://www.upboardonline.com 1+2=3

Why does
Antarctica ? How will

ultraviolet radiation affect the plants and
1+1+1=3

take

ozone hole form over
enhanced

animals ?
What is triple fusion ? Where does it

place ? Name the nuclei involved in triple
1+1+1=3

fusion.

¢ inheritance ? Explain

What is polygeni
1+2=3

it with suitable examples.
the advantages and

Compare

disadvantages of  production ; of }

genetically modified crops. 1 3 +1 > =3
P.T.O.
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(e)

(d)

If a marine fish is placed in a freshwater
aquarium, will the fish be able to

survive ? Why or why not ? 1+42=3 |

Make a diagram of simplified model of
phosphorus cycle in a terrestrial

ecosystem. (No description is required)

7.  Describe the human female reproductive

system with the help of a labelled diagram.

OR

Describe the process of fertilization in

angiosperms with the help of diagram.

8. What are nucleic acids ? Describe double

helical structure of DNA molecule proposed by

Watson and Crick.

What

OR

18 sex-determination 7 Deseribe the

mechanism of sex-determination in birds and

honey bees. 1+4242=

348 (WH)

10
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r? +‘2 25

J+2=5

I"";::;

what is plant breeding ? Describe methods of

plant breeding for disease resistapce and
improved food quality.

1+42+2=5
OR

Write short notes on any two of the

. f
following : 2l,0! -
(a) Fisheries 4
(b)  Inbreeding
() Acquired Immunity
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